Math 2366, Quiz #4, Summer 2014 Name K-‘E’; \I/

Instructions: Show all work. Justify answers as completely as possible. If you are asked to prove
something, mere computation is not enough. You must explain your reasoning. Be sure to state your
conclusion clearly. Incomplete work or justification will not receive full credit. Use exact answers unless
specifically asked to round.

1. Determine if the function f(x) = ﬁ is a bijection from R to R. Justify your answer.
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2. Give an explicit formula for a function from Z to Z" that is:
a. One-to-one but not onto.
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b. Onto, but not one-to-one.

£ (1) = [n)

¢. One-to-one and onto
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d. Neither one-to-one, nor onto.

£(n)= n*

3. Draw the graph of the function f(x) = [1/x].
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. Find the first five terms of each sequence. é O ~|' -2_,.-2_' 8, 88.3

a. {an}n=0='ﬂ!—2n
A, = 1-1rO Ar=2-4=-2 AqE Fi-l6>]
a = “'2‘:—, as = 6-%=-21 as.:.:lao—BZ"gY

\
b. ap=-2ai_;+(n-1),a,=2 . _ XQ’I-D‘Dq.--i
B, =12}, -832256, 2080 1
o= -2(2d+0 =-3 22' ’ ' ]

Re = =2(-D) 1 = —[281=-127

Q3= ~2(H2F) tL = —3225
Ag = ~2/(-%256)"+3 > -20% 817 9669
¢ Sp =X (1+(-DYH SL’ = l=+1 = ‘f
Si= I-l=0 Ss = I-1=0t4 =4
S, =1t1=/ 102
S3=1-;=O+L=L 5012,2-,"':‘1)--- §

- Find a formula for the nth term of the sequence.
a. 3,6,12,24,48,96,192, ... :

- L = L]
On=3(2) =0 stk a3, =32
b. 7,11,15,19,23,27,31,35, 39,43, ...

Gn=Ft4n  (Slakat nro) GanX e = TN
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